17414 x 1-1/4" HWH Shoulder Screw
(At 24 0.C in remaining slots)

Roof Structural w
Typo 1/ i
g
==
2

Rake Plote

“ 174-14 x 1 1/4" Tek Screw
L (At first slot from eave onlyD
/-/ Notch rake plate to
§ clear eave plate
N

Z@.ﬁﬁﬁmﬁu INC.

STEEL BUILDING SYSTEMS & COMPONENTS
1913 Hutchins Ave. Ballinger, TX 76821 \k\
(800) 527—1087 (325) 365-8103 (Fax) -

DESCRIPTION MTL - Edge Plate REF: PG 29

DRN. BY CK'D BY DATE SCALE SALESMAN JOE NO. SHEET NO. REV.

FIC 86/05717 | NONE Priitin Colombo




Clip Tak

lip Base

Clip Fastener
(2> 1/4~14 x 1 1/4” Per Clip

Roof Panel

- NOTE: (3) FASTNERS PER CLIP FOR 22 GAUGE
00
Structural

W
d

Male Seom

Roaf
Parnel

VIEW ALONG PANEL RIB

Clip Fastener
(2) 1/74-14 x 1 1/4" Per Clip

Clip Base

K¥X¥X  NOTE  %xx

FOR CLARITY OF DETAIL,

ROOF INSULATION IS NOT \./LD
SHOWN oo
Structural

MUELLER, INC.

STEEL. BUILDING SYSTEMS & COMPONENTS \\\
1913 Hutchins Ave. Ballinger, TX 76821 \
(800) 527~1087 (325) 365-8103 (Fax) \\\.

DESCRIFTION MTL - Parel Clips REF: PG 41

POIC 06/035/17 NONE Philllp Colombc

DRN. BY CK'D BY DATE SCALE SALESMAN JOB NO, SHEET NO. REV.




_

End View

Extend tape sealant
1/2" beyond end

of Eave Trim

Eave Trim flush
with Rake Angle

Panhead Screws
at50"o0.C.

Eave Strut

Edge Plate

Sealant Tape

Under Edge Plate

M

1913 Hutchins Ave.
(8OO} 527—1087

UELLER,

STEEL BUILDING SYSTEMS & COMPONENTS

Ballinger, TX 76821
(325) 365-8103 (Fax)

INC.

y 73

DESCRIPTION MTL - Eave Trim REF: PG 15
DRN. BY CK'D BY DATE SCALE SALESMAN JOB NC. SHEET NO. REV.
PDC Q&/03/17 NENE Phittip Colombo




7l4-14 x /7/8" STITCH SCREW

@ 36" O.C.
ROOF PANEL
RAKE TRIM |;/// 3/8"% 3/3P" MASTIC
PANEL CLIP \\\\\|
<— RAKE SUPPORT
ANGLE R
/
#12-14 x 1 1/4*
D, e 6" OC,
>0 SCREWE & LC #12-14x1 1/4” SD Tek
Aﬂ (8> @ EACH PURLIN FOR ANGLFE CIINN,
RAKE SLIDE amzé.|\\\\\\\\ \
| 0
—\
e X 778 1/4°-14 x 1 1/4" Clip S
Lap Tek Screw B 1'-0” [.C. - X Ip >Crew
: (2> PER CLIP PURLIN
P

W[UELLER, INC.

STEEL BUILDING SYSTEMS & COMPONENTS \\\
1913 Hutchins Ave. Balfinger, TX 76821 \
(800) 527-1087 (325) 365-8103 (Fax) \N\»

DESCRIPTION MTL - Flooting Rake Details A REF: d08.05.0
DRN. BY CK'D BY DATE SCALE SALESMAN JOB NO. SHEET NO. REV,

PDC De/05/17 NONE Phittip Colombo




3 3 1/273 /20 3
i Uil

L1727

1

172"

|
|

Screw Spacing at Eave

Temp. Screws 5’

1 1/2

1 172

Screw Sequence,

12-14X1 3" Screws

(see spacing detail
oboved

Y-14xi-§ clip screw, no washer
2 per clip

Panel Clip at

each Roof Purlin

Tape Sealant

Edge Plate

Insulation Compressed
under Panel Clip

I\

1913 Hutchins Ave.
(800) 527—1087

UELLER, INC.

STEEL BUILDING SYSTEMS & COMPONENTS

Ballinger, TX 786821
(325) 355—-8103 (Fax)

y 3

DESCRIFTION MTL - Fostening Eave REF: PG 21
DRN. BY CK'D BY DATE SCALE SALESMAN JOB NO. SHEET NO. REV.
PDC 06/03/17 NONE Phillip Colombo




